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PART -I: GENERAL ENGLISH
1.  You may go now.
This sentence can be used:
(1) to take permission (2) to make an offer
(3) to give permission (4) to make a request

2. . 1 feel,home 1s a better place to relax.
The above sentence expresses

(1) Agreement (2) Opinion
(3) Prediction (4) Refusal
3. Your friend wishes to meet you but you are engaged with some other work. How do you
express your inability? ‘ ,
(1) By all means . (2) D’m afraid I cannot make it
(3) Youmay go now (4) Iam not your friend

4. IfI were you, I would help you complete the task.
The above sentence comes under:
(1) making a suggestion ~ (2) making a request
(3) making an offer (4) refusing permission

5. Your uncle gave you permission to use his bike.

How do you express your happiness?.

(1) Iam very sorry (2) Your bike is awesome!
(3) Itisverydirty (4) TItis so kind of you

6. He received a proportion of his from selling tamarind seeds.
Choose a suitable word that fits in the blank.
(1) wages (2) income
(3) salary | (4) labour

7.  The minister decided to visit the and extend his support.
Choose a suitable hyphenated compound word. ,

(1) newly-constructed house (2) pebble-strewn roa
(3) well-educated people (4) flood-hit villages
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8. Anperson who is unpleasant and tries to offend people is a/an

(1) extrovert (2) placid
(3) obnoxious (4) suave

9. Idon’t want to give way for unnecessary matters.
Choose the right meaning of the underlined.

(1) happen (2) allow

(3) think (4) disagree
10. A person with knowledge and reasoning is a/an

(1) expert (2) - intellectual

(3) snob '(4) literate

11. The judge advised the disputing phrties to settle through discussion.
Replace the underlined word with the word that has same meaning.
(1) negotiation (2) rehabilitation
(3) vegetation (4) degradation

12. The greatest work of Satyajit Ray was Apn’s Trilogy.

Replace the underlined word with the word given below with same meaning.

(1) verbatim (2) alma mater

(3) linguafrance (4) magnum opns.
13. Pick out the word that ended with a suffix.

(1) discontent (2) conviction

(3) bicycle (4) diameter

14. Oh, I call it a double-faced behaviour.
What is the underlined word?
(1) acompound adjective (2) .aprepositional phrase
(3) anoun (4) an adjective

15. Father’s face lit up with contentment.
Pick out the right antonym of the underlined word.
(1) satisfaction (2) happiness
(3) displeasure (4) commitment
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16. Asatakenof __ ,Rayagreed to be the co-founder for Chitrahani.

Choose the correct word that fits the context.

(1) friendliness (2) friend

(3) friendly (4) friendship
17.  You can certainly do it.

The word ‘can’ in the above sentences indicates:

(1) ability (2) inference

(3) compulsion (4) obligation
18. The film industry is expanding in leaps and bounds.

What kind of expression is the underlined?

(1) compound adjective (2) binomial

(3) bilingual (4) compound phrase

19, Many great artists paid their tribute to ‘Mahanati’, Savitri.
What is the parts of speech of the underlined word.

(1) Verb (2) Preposition
(3) Adjective (4) Noun
20. Pick out a word from the options given below that indicates a positive quality.
(1) stubbom (2) affable
3) slovénly (4) sarcastic

21. I quickly sat down on a rock. My father laughea at my plight.
Combine the two sentences using ‘when’.
(1) When my father laughed, I sat down on a rock.
(2) I quickly sat down when on a rock, my father laughed.
(3) When I quickly sat down on a rock, my father laughed at my plight.
(4) I sat down and my father laughed when I am on plight.

22. Choose the alliterative word from the words given below.
(1) tata (2) teemy-weeny
(3) aye-aye (4) see-saw
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23. Rupa describes her feelings poetically. She has the ability to become a
Choose a word that best suits the above blank.
(1) artist (2) cssdyist
(3) poet (4) poetess
24. Neelima said, ‘My new job is very interesting’.
Change the sentence into Reported Speech.

(1) Neelima said that her new job was very interesting
(2) Neelima says that her new job was very interesting
(3) Neelima said that my new job is very interesting

(4) Neelima told that her new job is very interesting

25. The poet has learnt the ways of the world.
Change into ‘passive voice’. :
(1) The ways of the world has learnt the poet.
(2) The ways are learnt by the poet of the world.

(3) The poet has been learnt by the ways of the world.
(4) The ways of the world have been learnt by the poet.

26. It’s high time he the project.
Choose the right verb to fill in the blank provided.
(1) submitted (2) submits
(3) will submit’ ‘ (4) will have submitted

27. Thave lived in Hyderabad for 10 years.
The verb in the sentence is in: |

(1) Simple past tense (2) Present perfect tense
(3) Future tense K (4) Past perfect tense

28. Inaddition to his regular studies, Rohan picked up a Diploma course,

Replace the underlined word with a phrase that best suits.

(1) Besides (2) inplace of
(3) aheadof ' (4) inspite of
29. Itook my horse swimming day or two ago.
Fill the blank with a right article.
(1) one 2) a
(3) the (4) o article
\—-\__
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30. Iwasnottrained enough for the game.

The word ‘enough’ in the sentence acts as:

(1) adverb (2) adjective

(3) noun (4) conjunction
31. 1 ugderstand your problems; however I can’t help you.

- The linker ‘however’ functions as:

(1) Result (2) Indicating addition

(3) Indicating a similarity (4) Contrasts
32. The time was up but the make up person would not turn up.

Identify the function performed by the modal.

(1) possibility (2) future of the past

(3) compulsion . (4) suggestion

33. Napoleon won the French honors. He died at St. Halena.

Which Relative clause can be used to combine the sentences?
(1) who B (2) which (3) that ~ (4) when

34. Come home early. I want to discuss an important issue.

Combine the sentences using ‘if-clause’

(1) IfIwant to discuss an important issue, I should come home early.

(2) IfIcome home, I shall want to discuss an important issue.

(3) Ifyou come home early. I shall discuss an important issue.

(4) Ifyouhad come home late, I shall not be able to discuss an important issue.

35. They may feel jealous your success.
Choose the right preposition and fill the blank.
(1) of (2) about
(3) on (4) at
36. Which writing activity among the following expresses your emotions?
(1) anadvertisement (2) anessay
(3) anewsreport (4) adiaryentry
37. In which letter among the following, a subject of the topic not necessary?
(1) Letter to the Health Inspector (2) Job-letter
(3) Personal letter (4) Formal letter
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38. Signature is a necessary element for:

(1) A formal letter

(2) Non-formal letter
(3) DiaryEntry

(4) Alltheabove

When two or more persons involve in expression of thoughts, it is:
(1) aconversation

(3) aletter

39,

(2) adescription
(4) note-making

40. How do we end the script for speech?
‘ (1) Greetings to everybody
(2) Helloeverybody!
'(3) Thanks for this precious opportunity
(4) Nice occasion

41. Every poem you read has one important element among the following.

(1) Theme

(2) Punctuation

(3) Structure of grammar
(4) More than two stanzas

42. Pick out the short form of ‘will not’ :

(1) will’nt (2) won’t

(3) wouldn’t (4) shan’t
43. Choose the correct spelling of the word.

(1) govemance (2) governence

(3) govemnce (4) govarance
44. Write the noun form of ‘prefer’ from the following options.

| (1) preferable (2) preferred

(3) preference (4) preferation
45. Choose the right word for the following sentence in possessive form.

“The shirt belongs to Charan’.

(1) Charan’s shirt (2) it’s shirt

(3) shirt of Charan (4) he’s shirt
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(46-50) Read the following passage and choose the correct answers to the questions that follow:

Dplphins are regarded as the friendliest creatures in the sea and stories of them helping
drowning sailors have been common since Roman times. The more we learn about dolphins,
the more we realize that their society is more complex than people previously imagined. They
look after other dolphins when they are ill, care for pregnant mothers and protect the weakest
in the community, as we do.

Some scientists have suggested that dolphins have a language but it is much more probable
that they communicate with each other without needing words. Could any of these mammals
be more intelligent than man? Certainly the most common argument in favour of man’s
superiority over them that we can kill them more easily than they can kill us is the least
satisfactory. On the contrary, the more we discover about these remarkable creatures, the less
we appear superior when we destroy them.

46. What is common about Dolphins?
(1) They were found since Roman age
(2) They saved humans
(3) They killed the sailors
(4) They are the largest ones on land

47. According to the passage, the community of dolphins is:
(1) complicated (2) simple
(3) friendly (4) big

48. How are dolphins similar to men?
(1) They have two legs like men
(2) They can speak like man
¢3) They are caring and compassionate to their community
(4) They are very complex creatures

49. Dolphins communicate with each other

(1) without talking (2) by babble of words

(3) by making friendship (4) by intelligent means
50. Man’s superiority over Dolphins is:

(1) remarkable (2) excellent

(3) extraordinary (4) degrading
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PART - II : BIOLOGY

51. Root like structures of a parasitic plant that penetrate into the host are

(1) Photosynthetic roots (2) Haustorial roots
(3) Nodular roots (4) Balancing roots
©83on g, A0Y, FodoS* D TeinFTIN SoSED 36
(1) 8omasg Socr Eobh 3¢y 2) Srag 3¢y
() 28D 3 4) Dol 3K
52. Photolysis of water is a part of this reaction.
(1) Light dependent phase (2) Photochemical phase
(3) Light independent phase (4) Both(1)and (2)
N8 5708 JFae ©HHIH & BEFS*D e S
(1) w08 38 &3 (2) S8 sroHS &F
() o8 $65 &% 4) (1) 5006050 (2)
53. Chemical name of vitamin 'D' is
(1) Retinol (2) Tocoferol
(3) Calciferol (4) Phylloquinone
LS ‘B’ Do), B B0
(1) B8>S (2) &S
(3) sydoS (4) 2578cS'S

54. Secretions released from these glands helps in the digestion of fats.
(1) Liver and Pituitary
(2) Pancrease and Liver
(3) Pancrease and Thyroid
(4) Liver and Thyroid
E3gos #go BoHerdd SDRrEIB PTen & Koo Kook BDoSwman.
(1) s°Bc%0 508050 Hearged (Dosritod)
(2) Esr0 58050 B0
(3) §Soo Sobosw Forond
(4) sBo%o 5085w Forownd
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55. H"ions produced in photolysis aré picked up by this compound
I8 508 I’ V6E H' wosrSoss & om bsoiged.
(1) ATP (2) NADP
(3) Co, | . (4) RUBP

56. Correct statement interms of lungs.

(1) Lungs are spongy in nature
(2) Left lung is slightly larger

(3) Lungs and protected by two membranes
(4) (1) and (3) are correct
0B85 J0080D VS T8I0
(1) &880 oS8 wotrow
(2) QD €3008G FoBo WEBM Gotnod
(3) 88K e0 Bol FEOB EHE tolrow
4) (1) So8osn (3) B

57. In Eukaryotes respiration occurs in
(1) Cytoplasm only
(2) Mitochondria only
(3) Mesosomes only
(4) Some part in cytoplasm, remaining in mitochondria
D808 EHoS® THHBAH BIS* 20
(1) SeaEgoes® SrEd
(2) &'soBosrs’ S8
(3) DFSInod SHED
(4) oS50’ Fod, §_J€'5‘S‘o@053°e5“ s o

58 Respiration is a combustion process, according to

(1) Priestly (2) Lavoisier _
(3) Robinson and Lavoisier (4) Robert Hill and Priestly
H8 R0 P5 6o “THEDH el B §o%”

(1) @ (2) 8sfonzbs

(3) oTrDIIS S0dcsw BSowwd (4) oaf d Soboso BY
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59. Correct form of equation for photosynthesis is

1 Light energy
(1) 6CO,+12H,0 Storepyi—> CH20+ 6H,0,+60,

2) 12CO,+6H,0tehere® , oy 0 +6H,0+60,

Chlorophyll
Sugar
Light ener
(3) 6CO,+12H,0 Cﬁlgm';;ygl{ >c63}11206+61+120+602
ugar

Ligh
(4) 6CO,+12H,0, — =t >C§H,206+6H20+602
ugar

88mady HoBrKBa%S Howofod HBN HEewo

(1) 6CO,+12H,0—=22__,CH,0+6H,0,+60,

5 080
8%
@) 12C02+6H20—%3£-;—>C6H1206+6H20+602
58,6
8¢
3) 6C02+12H2072;'§§T—>C6H1206+6H20+602
S5 8
8%
4) 6C02+12H202—,.)—L%‘;';—o)C6H1206+6H20+602
w88
60. Pyruvate formed at the end of Glycolysis is a compound of
(1) 2 carbon atoms (2) 3 carbon atoms
(3) 6 carbon atoms , (4) 8 carbon atoms
25‘0?0?3 Boo), ©odgEIS" A6)E PHIES® oddSD
(1) 256 vendhen (2) 3 58S vmoPHen
(3) 6 5% veIew (4) 858\ venHen

61. The value present on the right auriculo ventricular septum that lies between ri :
hs § nri
and right ventricle is ght atrium

(1) Bicuspid valve (2) Tricuspid valve

(3) Pulmonary valve (4) Systemic valve

S08 8% BB 26088 Sodgrio SIAKRE B8BE0EE Deeis DKY Eariasu
(1) eicges Sa0 Q) efigeh Exio

(3) DI Eareo _ (4) &% Ereo
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62. Cardiac cycle is completed approximately in
(1) 0.11 seconds (2) 0.14 seconds
(3) 0.8 seconds (4) 0.7 seconds
508 Secho JYST8 HF oo
(1) 0.11 D& (2) 0.14 8% (3) 0.88% 4) 0.78%

63. We can hear the sound "Lub" in heart beat
(1) When the blood moves into aorta and pulmonary artery due to ventricular contraction.
(2) When the blood moves into aorta and pulmonary artery due to ventricular relaxation
(3) When there is no blood flow from aorta
(4) When the blood flows out from aorta
Ty osSS* “of” oI Fyo DK IHykd DAVH0E08
(1) 28880 Jo8Ko S0l S§o BerE THoS V8 YYD ESISE @SroDSDydd
(2) =o0gen cHGR8s (hdso SASSYE) B0 B TBoSVE, HPD FHISDS
DSTORSHYE |
(3) ¥ wdo %008 8§ B3 SISy
(4) B8 Tdo Dod GE I8 20ASIYE

64. Organisms which use sea water for transport (circulatory) system are

(1) Annelids (2) Parazoans (3) Cnidarians (4) Protozoans
DB VB HPHEE T8 EPheo |
(1) o0z (2) oosS8H (3) @BODHSY (4) @&'ESH

65. Diastolic pressure of an healthy human being is
@5 rigS0BoBS SrSHNS* BASrPOE B0

(1) 80 mmofHg (2) 120 mm of Hg
(3) 90 mm of Hg (4) 120/80 mm of Hg

66. Cause of diluted urine is the
(1) Presence of Vasopressin (2) Presence of Thyroxine
(3) Absence of Vasopressin (4) Absence of Thyroxine
weyTES o S0 @8 5780
(1) FEOS 8dh ewoddo (2) Por§)s 894 Godo
(3) TIPS BEFSKo (4) BordyS BEF;Sco
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67. Total amount of urine excreted by a human per day is about
(1) 1.5to 1.7 litres (2) 1.6 to 1.8 litres
(3) 1.4to 1.6 litres (4) 1.2 to 1.4 litres
SrIYEo Garsd DIPod Sr@sn TEd) dLgs®
(1) 1.5%08 1.7 UL (2) 1.6%08& 1.8 O &
B) 140d L.6dLs | (4) 1.2%08 1.4 D& 8
68 . Heparin used in dialysis acts as
(1) Anti fungal agent (2) Anti coagulant
(3) Antibiotic . (4) Antiseptic
BABTrOVR PEBODNS' TR XS o HATWN0S
(1) Do JarsES» (2) 683 08S J&°EE0
(3) drg@Ed TFso @4) & ¥
69. Taking of a protein rich diet will result in more formation of this compound in urine
(1) Uric acid (2) Urea
(3) Creatine (4) Oxalates
Srodgydien I8 ST §&) BBoQ) B Ig8 Sar@os' ad ISy S & otaod
(1) oS50 (2) oBrBosy
(3) BoSrES (4) oxBSe
70. 'Uremia' is a condition caused by the disfunctioning of this organ
(1) Uterus _ (2) Kidney
(3) Lungs : (4) Heart
& 0350550 M HABHESFSE0 S0l ‘CarddcH’ oF 0 SenKrcood
(D ﬁcaéo:’aoo (2) Sorgdomren
(3) eDBBEEN (4) Ko
71. Pollen of this plant causes skin allergy and asthma.
(1) Jatropa (2) Cassia
(3) Parthenium ~(49) Papaver
& Bl Bwg), YIS BeoPed S8 BoRoFWS I08, O/ KdAZ
(1) g (2) &ohd
(3) >§ldcho (4) 2>s6
14-A - —
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72. Waste products get rstored in the fruits, leaves in the form of solid bodies called

(1) Raphides : (2) Sphaéraphides

(3) Resins | (4) Tannins

S0, wHes' Jeog Bohad 358 Sororen HYM God U DoSWE0N

(1) 3oz Seren (2) HopEw

(3) BdSew (4) &
73.  Main components of Myelin sheath of a nerve cell are

(1) Schwann cells and organic acids (2) Schwann cells and fatty materials

(3) Fatty materials only (4) None of the above

TEEw0 Bl 00OS e &od Sopg Herged

(1) &% Seodooen $o8csn EEYS edren :

(2) S Seadoen 508050 @‘.@‘S Do

B) &I dogen SrEd

@) 23 5
74. Number of cranial nerves in an human body are

(1) 10 pairs (2) 12 pairs (3) 31 pairs (4) 21 pairs -

SrdS BFros™ Ere Sde dopg

(1) 10z8en (2) 12eden (3) 31 z=¢en (4) 21 z8en
75. Main organ affected in sugar diabetes is

(1) Pancreas (2) Liyer

(3) Stomach (4) Small intestine

$8 6 TgRS* BB Spg wSaHSo

(1) . 850 (2) s8c%o

(3) Zgdodo 4 % @k
76. This hormone is called “fight” or “flight” hormone

(1) Thyroxine (2) Adrenaline

(3) Insulin (4) Testosterone

“Forby” Bor “Derod” F6S © DeoS2rdd

(1) Bogyo (2) A&TOS

(3) adnds (4) BYRYOS
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77. A plant called Mimosa pudica shows this movement.
(1) Phototropism (2) Thigmotropism
(3) Geotropism ' (4) Hydrotropism
DIr FA5 0T 3% S° wHHoB Seoso
(1) 508 e3Eso (2) HySsEso.
() ASegsgso (4) 8 ehS5dso
78. Common mode of Asexual reproduction in algae, fungi and many land plants 18
(1) Fission (2) Budding
(3) Fragmentation (4) Both (1) and (2)
3Seren, 30oEren HBAN s g oS’ Ferdn ©BoAE (B8 DEH
(1) 298 (2) ssessso
(3) SuHee (@) (1) o805 (2)
79. This hormone helps in breaking the dormancy in seeds and buds
(1) Auxin : (2) Cytokinin
(3) Gibberellin (4) Abscisic Acid
FEsren So00k0 DETOS” DALSPK SohoB F*ES
(1) o§ 2) 2&BIS
(3) 22988 (4) &S 60
80. Secretions of this gland helps in neutralising the acidity and lubricating Urethra
(1) Prostrate gland (2) Cowper’s gland
(3) Adrenal gland (4) Pituitary gland
& (oG RrS0 [HREY FE0S' 8la) ééocoéaozsw&)g é)@éea‘en BO8T BIS R
S5HEB0G0g 0BT ) Eeol@00
(1) &HH Hod (2) T38 Kot
3) ©bSy%, Hod (4) Dosord Kod
81. Rhizome is seen in s
(1) Onion (2) Ginger (3) Garlic 4) Colacassig
B8y BAS* EQDX08 '
(1) &9 (2) ®wo
(3) Jexnd 4) o&0d
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82. A tubular structure which contains the blood vessel that connect the embryo with the

placenta is '
(1) Uterus (2) Umbillical cord
(3) Chorion (4) Amnion
2OTR) 20cnHS €0H 8T Q) EOAS Tr¥Sn H0& AT0
(1) Hopdoso 2) THKEH
(3) Jorasnd (4) oy
83. Unisexual flowers can be seen in the following.
(1) Coconut . (2) Papaya
(3) Bottlegourd (4) All the above
Q800K Daryen DB SrgSEy
(1) &0 (2) &amyow (3) &8 (4) 23
84. A passage of compatible male sex cells in a flower is
(1) Pollentube (2) Ovary
(3) Style | (4) Carpel
PYosS® vdsre DERDz Seren HAESFB0T Sorhn
(1) Jo°8 S¢S0 (2) womFado
(3) ‘8eo (4) wo&s*so
85. After fertilisation the ovule developes into
(1) Ovary (2) Fruit
(3) Seed (4) None of the above
20888m SoE wodo aer DHKS0E
(1) womdoso (2) Pwo
(3) dgRo : (4) PID 5P
86. Duplication of chromosomes occur during this phase of interphase
(1) G phase (2) S phase
(3) G, phase (4) M phase
wodgHS* E'IrT Snen BGo o Rogsd
(1) G, &% ' (2) S&%
3) G,&% 4) M3
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87. This nerve plays an important role in carrying hunger signals to the brain from stomach.

(1) 10% cranial nerve (2) Vagusnerve

(3) 8" cranial nerve (4) Both (1) and (2)

2EEE0 %08 Wkt w8 Soteren Hoskos® SupgE Sirod T8

(1) 105 g>e 8 (2) 3K &

(3) 835 &>eo ;& 4) (1) 508050 (2)
88. Experiments on conditioned reflexes were conducted by

(1) Crick . (2 Pavilov (3) Watson (4) Lamarck

N20BE (HBY0ES BEgoD PABrmren IS8

1) & @ >555 3) . oS @) o5,
89. Type of teeth with sharp and pointed edges are

(1) Inscisors (2) Canines (3) Molars (4) Premolars

QRIS Brdormr $od wothen Ko Soaren

(1) Hoodsren (2) B&8en () wEgeasren 4) VS Sceas en
90. Hormone that can supress hunger is

(1) Ghrelin " (2) Leptin

(3) Pepsin (4) Trypsin

5O A6°QoB TS 1d

(1) HoOS @) 8%

(3) S @) &S

91. Variations means
(1) achange in the trait of an offspring
(2) achange in the RNA of an offspring
(3). No change in the RNA of an offspring
(4) No change in the trait of an offspring
S gen S
(1) 28 J0885° 56570e" Srddy Goddo
(2) o8 $088s5° RNAS Sy sodtro
(3) =& H0885%D RNAS® dtnSol Sr6oy BE&rseo
4) 28 $0885°D SEFOS" Srdd) BEFSdo
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92. The base which is not found in DNA is
(1) Adenine (2) Guanine
(3) Uracil , (4) Thyamine
DNA &° ofhosd g -
(1) &35 2) ™R
() oSoodS (4) BSHS
93. Females have these chromosomes in their cells.
@ees‘ G0od Srod™ §'3rstinen
1) XX . 2 XY
() XXX (4 XXY
94. Structurally different but functionally similar organs are called as
(1) Homologous organs (2) Analogous organs
(3) Homoanalogous organs (4) None of the above
doyos® Jom God 28 8§@5 DO Agerod woredd aor B
(1) oy Fdog ST e | (2) B g wIHT e
() doye Bosr Fddg wIcT (4) 232 53
95. Archeopteryx is the connecting link between
(1) Reptiles and Mammals (2) Aves and Reptiles
(3) Mammals and Aves (4) Aves and Arthropods
8, G R08) DB Sodg V0TS DHI™ wokwod
(1) 63)ren Sobcs §6Treo (2) Dgoen Sobakn HEJYren
(3) &dmren So8050 Sfoed (4) SPeo S8c5n BGIT BYen
96. Migratory birds visit Kolleru lake between the months of
(1) October and March (2) November and April
(3) December and February (4) October and February

Sod dfer FBK d68yd & Swo D6 20EB)on
(1) o§ab S08050 3r0)

(2) $H5026 508050 JWONS
(3) &owb Sobasn PSS
(4) o§wab $o8050 DN
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97. Diarrhoea, typhoid, amoebiasis are the

(1) Airborne diseases (2) Soil borne diseases
(3) Water borne diseases (4) None of the above
$Bo0aSr, BFons, ©NDFHD WSS
(1) ™o oo arghod FrgEoen (2) o (*E) TG g0 Tgle
() I8 oo arghod TG00 (4) I Y

98. Bio accumulation may cause physiological disorders like
(1) Hypertension (2) Diabetes
(3) Polio (4) Hypothyroidism
28 BDE 5555@56:‘60 Sod 08 688 doﬁ&é
(1) ©§8 sgFen . (2) GSrBES
3) o> (4) Trargoondzo

99. Percentage of fresh water frozen in glaciers, ice and snow is
B0, H00th, trSordo ErHos® KEEY &) V8 Tdo

(1) 2.75-3% (2 1.75-2%

3) 3.75-4% : 4) 0.75-1%
100. Planting Gliricidia on field bunds makes the soil rich in

(1) Phosphate (2) Copper

(3) Nitrogen (4) Potassium

Foo KD N0D&ST Dotko S Jos’ D¢3 B w08

1) >hye 2) =56

() 3&'=s (4) @r&rioso
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PART - III : PHYSICAL SCIENCES

101. The value of latent heat of fusion of ice is

(1) 80 cal/gm (2) 80 cal’kgm

(3) 540 cal/gm (4) 5480 cal/kgm

S0 (BFSS HAJo Dewd |

(1) 80ss'dB/ro (2) 80ses*a/8. 0

(B) 540ss’v/gro - (4) 548073e*6/8.mo
102. Number of Protons present in Na* is

Na’ &od @emdy dopg

(1) 23 ) 11 3) 12 4 10
103. Which of the following is Dobereiner’s Triad.

8od FS* TEIE o

(1) Li,Sr,Ba (2) Ca,Na, K 3) Ca,Brl 4) S,Se,Te
104. Bond Energy measuredin _____

(1) kgm/mol (2) kgmmol (3) kimol (4) kJ/mol

205¥8d & BeoTd

(1) 8. ro/3rS (2) &y ro 3rS 3) & S 4) &8/ 3I>S
105. Tesla is a unit of :

(1) Electric resistance (2) Magnetic field density

(3) Induced current (4) Potential difference

By & pSrwo

(1) Deogs A5G0 (2) ©oHAY 08 VHITG Fold

(3) (@08 Jogd (4) 2>BIcHS Ao

106. The volume of hydrogen liberated when 92 gms of sodium reacts with excess of water at

STP s

(Atcmic masses of Na = 23U,0=16U,H=10)
(1) 4.48 litres (2) 48.4 litres (3) 44.8 litres

(4) 4.84 litres

STP $¢ 96 (rSve Fdoso i QBE BEGF0B Do Wo PERS PoSHOSrR0
(Na=23U, O = 16U, H=1U 365rea0 ($g0Hen)

(1) 44800&  (2) 48400&%  (3) 44.8608%

4) 4.84 b0
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107. Abulb marked as 120 W and 120 V, then the resistance offered by the bulbis_____ Q.
&8 oy 120 W o 120 Ved @ 938, & 2oy a5eKon o' K
(1) 120 @) 240 3) 60 (4) 180
108. The magnification value of a mirror (m) is +1.25 then it forms _____ 1mMage.
(1) Real, Enlarged | (2) Real, diminished
(3) Virtual, enlarged ‘ (@) Virtual, diminished
w8 85)0 Bk, sSFSo Jeos m=+1.25 08 & &6ye00 , ©8Dowrq)
EYER08. ~ v
(1) e, g3S ' Q) Dz, DHBS
() g, EBS @) 055 DIBS
109. CaSO,, D) H,0 is known as ‘
(1) Washing soda (2) Baking soda
(3) Plaster of paris (4) Bleaching powder
1 .
CaSO,, ) H,0 ™ (30§ Bodod.
(1) whodw . Q) Sobrdw
() IR0 &S 8 (4) Hdof &6

110. CMC (regarding soaps) means
(1) Central Miscelle Concentration (2) Current Miscelle Concentration
(3) Concentrated Miscelle Concentration (4) Critical Miscelle Concentration

CMC (deyen dor) o3
(1) Dod DHd SSISBAS (2) 80085 20RO THSBAS
(3) SSHSBBE 1RO Dobs (@) B85S 2000 eSSBS

111. Theeducation for magnetic force on charge when there is an angle ‘9’ between the direction

of field B and velocity of charge ‘V’is __ (Q represents charge)
V’ 3o o 6378 w08 B B DKo Fwo ‘0’ vand watim o ‘
F = (Q 637d) dr0308) Mo m.m |

- B ) .
(1) QVBcos® . (&) Qg cosd | (3) QVBsing (g Q%’-sine

I
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112. The critical angle of diamond is

(1) Less than 26° - (2) More than 28°
(3) Between 36° to 57° @) 102°24'
SEo B, Po8f w0
(1) 26° s $59,% (D 2883 59,8
B) 36°%0& 57°e g’ (4) 102°24'

113. Correct form of equation for formation of Sodium Oxide in the following

808 TS’ A0 BFE SASrES BOCHED DO0HK DoEBEo

(1) 2Na*+0* - Na,0 (2) 2Na**+0% - 2Na,0,

(3) 2Na*+0* - Na,0 4) 2Na"'+0” — 2NaO,
114. Bauxite is ore

- (1) AHalide (2) An Oxide

(3) A Sulphide : (4) A Carbonate

THE 03 D)

(1) *rs& Q) w3s

B) 5Bya (4) =63
115. Ethanol is

(1) Farmaldehyde (2) Ethyle Alcohol

(3) Methyle alcohol (4) Acetaldehyde

TS ©o8

(1) doQeé (2) =235 veySS

(3) RS weo S (4) WerYrs

116. XMg (OH), +Y I'-I.,_SO4 — MgS0, +2H,0
Then X, Y are respectively ,
X Mg (OH), +Y H,SO, — MgSO, +2H,0
wond X, Y denden Stodm
1) L2 @ 1,1
3) 3,1 @) 2,2
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117. Asilicon chip is used in an integrated circuit of a micro computer has a mass 0f 2.80 mg
(mass of chip) then the number of atoms of silicon arc presented in the chip

(Let Atomic mass of silicon is 28 gm)

&8 E' oy’ 208EBE B8, giSes adotss 2.80 (T (ESgodie HOTS QDI
TEE ©o&HeS* &od 2055 DESrenPhe dowg

ROS°S o), H6Sren ($550°2 28 gm) |

(1) 6022x10% (2) 6022x102 (3) 6.022x10° (4 6.022x10%

| ?Hs (|3sz
118 . CH3—-(|Z—CH2 —CH-CH,OH is
CH, | .
(1) 2,2, dimethyle, 4 Ethyle pentan - al
(2) 2,2, dimethyle, 4 Ethyle pentan - ol
(3) 2 Ethyle, 4, 4 dimethyle pent - 1 - al
(4) 2 Ethyle, 4, 4 dimethyle pent - 1 - ol

CH, ICsz
I
CH,- C—CH, - CH-CH,0H o3&
I
CH,

(1) 2,2,3088, 4985 Dobds -uS
(2) 2,2,3088, 42985 Do -&5
(3) 2285,4,432085 0ol -1 -sS
4) 2285,4,43085 Do -1-46

119. E ok isknownas ____ law of induction.
(1) Lenz's : (2) Ampere's
(3) Faraday's (4) Oerstead's
B=22 w3s Desogtsasd 08 (B dpodo
¢)) Aatoag (2) eohoHs (3) >sa @) @@’5,,85

’
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120. 10 pico meters = R
(1) 10¥m. _ @ 10"'m
() 10%m @) 10"%cm
10 28° Qotay =
(1) 108 % @) 10"
3) 107 @) 107220.5
121. Anobject of 5 cm tall is placed before a spherical mirror at 20 cm distance. So as to form

a virtual image of 10 cm tall. Then the focal length of the mirroris ____

(1) 40cm (2) 35cm

3) —20cm 4 -80cm

50.20 PEYKe 0 $5H 0 Fesd $6yE0 32008 20 0.0 Erdos* ol wd
10 0.0 PEIS Qogrg 8D0erR) AGYPN0d. wond & S8y Jrergodso _

(1) —40%o.» - (2) "350.

3) —20%o.» 4) -80o. -

122.

If the absolute refractive Index of A, B, C are 1.31, 1.34, 1.44 respectively. Then the
optical density of A, B, C in descending order is

A, B, C o Gt SES58 hose $&dm 131, 134, 1.44 vond 8 (A, B, 0) ©
SyFFro| g ©S8SreEdos”

(1) C>A>B : 2) C>B>A

(3) A>B>C 4 A>C>B

123. Atomic number of mendelevium is
So08dI0%00 B, S8 Jowg
(1) 11 2) 24
(3) 101 4) 116
124. When sodium Hydroxide reacts with Zn the products are
(1) Sodium, Zinc Hydroxide (2) Sodium Zincate, Water
(3) Sodium Zincate, Hydrogen (4) Sodium Zincoxide, Water
B0 TEBE 2058° 85 BoBSYE )T BoSraargen
(1) 53‘50530:-2305' TER6 (2) &Boo 2odeS, &
(3) &&odo 208¢5, TERR (4) &F&cso 805‘335, D&
25-A )
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125. Which of the following has longer wavelength than usable wavelength

(1) UVrays (2) Xrays
() yrays (4) Radio rays
- €08 T7R0° B SorgE 0 GYFSS SEsLE50K BEgoe B JEYST &0B.
(1) UV 88eexs (2) X8ewren
B) 7v8&8eren (4) ‘AR Begen

126. A, B, C, D are having temperature as follows
A,B,C,D Gigen & Bod Jgom € IT)00.

A B c D

24°C 280K —4°C 289K

has more temperature than all the other 3.

TS 5 e Sordodsar) QB S PSS ek,
1) A (2) B
(3 C @4 D

127. The velobity of light in vacuum is
(1) 3x10° kmph ) 3x10%ms
(3) 3x10%cmys (4) 3x10® km/s
Erigos® 5708 I |
(1) 3x10° 8.20/K08 2) 3x10% B/
(3) 3x10% 0.0 4 3x10% 8.5/

128. An example for Auto reduction
005 §00rE8e0s GIrirde

(1) TiCl, +2Mg 2% Ti+MgCl,

(2) TiCl, +4Na 2% Ti+4 NaCl
'(3) 2Cu,0+Cuy,S — 6Cu+S0,

4) PbO+C —2< Pb+CO
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129. B and angle of HNh in NH, is
NH30.) &od HNh R, wogE'e0
(1) 104° 37" 2) 107°48' (3) 127°48' @) 120°

130. Which of the following can be converted into Anion
(Arrangement of Electrons in each orbit is as follows)
8ol T°e* BSaHS 5°EANS

(6B)erSS* dogSe ©0s dTso & Bod Ao Sobwdod)

1) 2,81 ) 2,8,2 (3) 2,83 4 2,87
131. Coordination number of Cl in NaCl is
1 2 2) 3 (3) 6 (4) 0 (zero)
F&oPo 506 Cl R, dSosgch dogg
1 2 2 3 - 3) 6 (4) 0(Fsg0)
132. Focal length of human eye lens can accommodate between (Healthy Human)
(1) 2.84cmto3.04 cm (2) 227cmto2.5cm
(3) 0.02cmto0.2cm 4) 2cmto5cm
SrSHA E39) BwE), Eéog derdn Voo SLE Srefgoddo So0D S8%

(1) 2.84on o oo 3.04 on
(2) 2.27 %on A S0 2.5 o &
3) 0.02-'?oou' Ar S0 0.2 Don o
(4) 27on o &o& 5ou I

133. The colour of litmus in neutral solution is

(1) Red (2) Blue .

(3) Yellow (4) Purple

LIS (ESe00s” DR goid

(1) 6% (2) Qoo | .
(3) d20D (4) S&s o Sok
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134. While preparing Ethanol from Ethane the catalyst is
(1) P,0, - (2) Ni (3) Sunrays 4 HO
DS $00 2GS Sokrdo D)oy Td GB)SEo
(1) P,0, @ Ni (3) rog8swren (4) HO

135. Which of the following statement is true
(1) Concave mirror always forms real image
(2) Concave mirror always forms virtual image
(3) Convex mirror always froms real image
(4) Convex mirror always froms virtual image
Bod TUS* BEgI8b
(1) J&rse8 Symo JYIydor Jz PEDorT) ASYR0H
(2) s S0 JQIYET Erg Do) JBYER08
(3) ooarss )0 JQIYET Ja HEN0W ) BRI
(4) %o0zrs8 $8)@0 IQIJET TG PED0TT) Y08

136. Doctor advised to use 4D lens, then the focal length of the lens is

(1) 25m (2) 25cm (3) 40m 4 0.04m
g6 4D E05m) TESR JrdY © ELE Trigoddo
1 253 (2) 25%onds 3) 40> 4 0.04 2

137. The intensity of scattered light is maximum at
5708 D08 HSE vh¥om &oad 'm0

(1 0° 2) 45° (3) 60° @ 90°
138. In groups the value of increases

(1) Atomic radius (2) Electron affinity

(3) Ionisation Energy (4) Electron negativity

rdos® Dend DB

(1) HESred argrgo (2) OoES 250

(3) ©cHESD F§ (4) doFs DG ¥ e
139. 1s2 2s% 2p% 3s 3p® 4s' 3d'" is the electronic configuration of

152 25% 2p% 3% 3p® 4s' 3d'% w38 oS dagho

(1) Cr 2) Cu (3) Mn @) Zn
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140. Which detecting Alcohol in driver's breath intially the colour of CrzOz{ is___

(1) Red : (2) Orange

(3) Bluish green (4) Yellow

VO IredsH T SEhe PR’ 365003)BdE duse Cr,0% S0,

o

1) % (2) 8oz (3) 90 wHdFy  (4) D0H
141. Dogs pant during hot summer is due to

. (1) Condensation (2) Freezing

(3) Boiling (4) Evaporation

IJDscewoes® B 0 SKDOI: Trenl SrPHLdd 5° 800

(1) oB¥8m0 (2) IFSS0

(3) Sdbse (4) eriESso

142. A double concave lens with 1.5 as refractive index is kept in air then it's focal length is
(radii of two surfaces are R, = 60 cm, R, = 120 cm)
(1) -80cm (2) -120cm (3) 240cm (4) 180 cm
1.5 5182558 Koo Ko a8 8F YLrs s sLso mMOS* o8 T Tegoddo
IS J‘gé"gé&aw R, = 60 on >, R, = 120 2on )
(1) —80on o ' (2) -120on d>
(3) 240 on o (4) 180 on d

Let the resistance of a human body is 1,00,000 ohms and it has 240 V potential difference.
Then the current passes through the body (i) = | |
$r55 ¥680 1,00,000 L00 DS AE°TQ) EOA Go&E0d, 8 240 V FBIHS
BSo €OA 08, © $660 Koom HSTod dogs (i) =

(1) 0.024A (2) 0.0024 A

(3) 24A 4 204A

If 1 litre water is heated for certain time to rise it's temperature by 4°C. If 4 litres of water
is heated for same time in the same condition then the rise in the temperature is

| Her6 Do5HBSETE0 Ko e38 §'o§ wlo Fodsroo -eao&'f_on TR SRS 4°C oA0S.
wod H57S 500’ o3 J00ES o6y i) ©odY 4 dLY JBS* 1BA &SP
(2) 2°C (3) 3°C (4) 4°C

143.

144,

(1) 1°C

-
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145. A magician duringa show makes a glass lens n = 1.47 disappears in a liquid then therefractive
index of the liquid is |

&8 DEXDS 1= 1.47 Ko ey o8 E506* oD EDoutom BT, ©o8 & (Eo
Ry S8 Koeako

(1) 2.94 (2) 147 3) 441 4) 147
146. Refractive index of water 1s 1. 0003 1s measured in |

(1) cm 2 m (3) km (4) no units

Q8 Boo¥) 18558 Koo 1.0003 o St Fendd. |

(1) Zounds , (2)

3) &> 4) PSrerren Godd

147. Lens makers formula
ELE Sasr8 dorigo

1_1.1 111
(1) f V+u @) f Vou

Z = 1_1 | 1 1
3) f (n- l)( R, Rz) 4) ——(R Rz)(l‘zj

148. The prism with crown angle A (60°) produces an angle of minimum deviation of 3()0
Then the refractive index of material of the prism is

.oé.:é 00 A (60°) Ko 2.8 .,;é,;éo 802 dBod S0 30° .Do’ab D &3 oéo§o SO DS0bS
dorg 5@2535:6 Koo |

‘ 1 |
(1) 242 . @2 3) /\/-2_. | ar 3

149. In the Rainbow the inner most colour of cone is
(1) Red (2) Blue “(3)  Violet @ Greo
ao@dém«)é‘ o508 ©odC0S" &0l Fopo) Y Sory n
1) 3 (2) do0 1 (3) &mdox
(1) ) ) @) &9&55‘)

150. n + | value of 4s is '

4s B8, n+1Jend
1 1 2) 2 3) 3 @ 4

30-A —_—
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